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Homework Assignment for ME1000 Industrial Management Re-Exam

You have two days for constructing the homework assignment. This assignment is handed out on January 13th, 8 a.m. and should be handed in (as a Word file, .doc) on January 17th, 23.59 P.M, at the latest.  Late answers will lead to deduction of points.

This exam is different from previous exams as it only includes multiple-choice questions. Each question should only be answered with one of the alternatives.

Complaints to the grading will only be accepted in written form.

How to submit

1. Answer all the questions in this document (answer sheet at the end of the document).

2. Save and submit this document to stefan.gorling@indek.kth.se ,use the file-name as your subject.

This document submitted by e-mail is the formal submission. (Since this is a re-exam, there is no webform submission).
Part A: Short-answer Questions (1p questions)

This part consists of short-answer questions, which you should be able to answer quick, using less than 5 sentences. These answers are corrected as correct/false only.

A1. Maureen, a United States resident, was surprised to see that her home computer was actually made in Japan. Maureen did not know that she had purchased a(n);

A) Imported item

B) Exported item

C) Protected good

D) Generic good
Answer:

A2. ____ involves the production of private-label goods by a foreign company to which a domestic company then attaches its own brand name or trademark.

A) Franchising

B) Contract manufacturing

C) Import trading

D) Export trading

Answer: 
A3. Management and employees at Boyer Enterprises are given time off each year to work in local charities. This firm clearly practices:

A) corporate philanthropy

B) social irresponsibility

C) community mediation services

D) participative funding
Answer:

A4. Trans Globe Airlines has recently looked into a merger with Royal Blue Airlines, a financially troubled rival. The firms believe the merger will create a stronger company that can offer travelers more flight to a wider variety of destinations. This proposed merger is an example of a:

A) conglomerate merger

B) leveraged buyout

C) horizontal merger

D) joint venture
Answer:

A5. Daggie’s Sandwiches, Inc. sells the rights to use its name and sell its sandwiches in a given market area to aspiring business people who are willing to pay agreed upon fees and meet certain contractual terms. Daggie’s:

A) is offering investors the opportunity to form limited partnerships

B) is a franchisor

C) creates private subsidiary companies

D) offers a tas-free investment potential.
Answer:

A6. Luis is a partner in a firm that specializes in producing vitamins and health food products. While the business is considered small by U.S. standards, he is attempting to persuade his partner to expand internationally. Luis would list which of the following as an advantage of going internationally?

A) Exporting can help sell excess inventory

B) Marketing programs benefit from cultural similarities in prospective markets

C) Financing can easily be obtained to expand internationally

D) Selling your products in other markets reduces their life cycle, making them more attractive.
Answer:

A7.  A basic difference between goals and objectives is that goals are: 

A) precise, while objectives are vague

B) set by tactical plans, while objectives are set by strategic plans.

C) Set by middle, management, while objectives are set by first-line managers

D) Concerned with broad, long-term accomplishments, while objectives focus on specific short-term details.
Answer:

A8. Ed Flavorman, the chief executive of Flavor Best Ice Cream, believes that alternative plans are almost as important as the primary operational plans because the market is so competitive and unpredictable. Ed endoreses:

A) tactical planning

B) retroactive planning

C) concurrent planning

D) contingency planning

Answer:

A9.  Rip is an ex-Marine who believes he should always be in control. He feels that when he says “jump”, the only question his subordinates should ask is “How high?” Rip’s leadership style is best characterized as:

A) bureaucratic

B) free-rein

C) remanded

D) autocratic

Answer:

A10. ____ believed that managers were to be trusted and the firm would do well if employees simply did what they were told.

A) John Keynes

B) Adam Smith
C) Peter Drucker

D) Max Weber
Answer:

A11. Bull’s-eye, a regional discount retailer, carefully watches the operations of their best rivals. Bull’s-eye rates and compares their operations to the best in the market. This firm is involved in:

A) outsourcing

B) functional positioning

C) competitive benchmarking
D) core competency ranking

Answer:

A12. Marilyn’s Travel Inc. is a medium-sized travel agency that specializes in vacation packages. It has packages available around the globe – everything from cruices, to beach resort vacations, to historical tours. The customer chooses the amount they would like to pay, the area of the world they would like to visit and what they would like to do. Based on this information Marilyn’s Travel uses _____ to delight their customers.

A) great human resources

B) the Internet

C) mass customization

D)   lean management

Answer:

A13. Superior Supplies has just agreed to help one of its biggest customers, Amalgamated Products, by participating in a just-in-time inventory system. From Superior’s perspective as a supplier, this system will mean:

A) that they will have almost complete freedom in scheduling deliveries

B) more effort and higher costs

C) less emphasis on quality and greater emphasis on quantity

D) a need to deliver large quantities at regularly scheduled intervals.
Answer:

A14. New employees at Throneberry Manufacturing are carefully trained to use the most efficient production methods. They are then placed on an assembly line and expected to perform the same task day after day, using the methods they were taught. The work is boring, but the pay is good. Throneberry’s approach is consistent with the principles of:

A) management by objectives

B) expectancy theory

C) scientific management

D) human engineering

Answer:

A15. Gerald believes that most of his subordinates dislike work and would avoid it if possible. He also believes that his employees have little, if any, ambition, and that the only way to motivate them is by using threats and punishment. Gerald’s views are consistent with _____ management.

A) Theory B

B) Theory X

C) Theory Y

D) Theory Z
Answer:

A16. Ben Eisner is a human resource manager at Claymont Communications who is currently involved in human resource planning. Which of the following tasks would Ben perform as a part of the planning process?

A) prepare a human resource inventory

B) appraise the performance of individual workers

C) establish the budget for the human resource department

D) interview potential workers
Answer:

A16.  Which of he following statements about recruiting is most accurate?

A) It is important for a firm to recruit and hire people who are not only skilled but also fit in with the firm’s culture and leadership style.

B) Recruiting internally will almost always result in better qualified applicants than recruiting externally.

C) Small firms generally have a strong advantage when it comes to recruiting.

D) One advantage to using external sources when recruiting is that this approach tends to result in higher morale among the firm’s existing employees.

Answer:

A17. The most likely reason a firm would pay its sales representatives a commission rather than a salary is that it wants to:

A) provide sales representatives with a strong incentive to generate more sales for the company.

B) Keep the pay system as simple as possible

C) Be able to deduct the cost of compensating the sales representatives from its taxable income.

D) Give the sales representatives a stronger incentive to collaborate with each other and act as a team.

Answer:

A18. Amie was recently hired at Kreigmeister Industries as a repairperson. She was informed that even if she did not join the union representing her fellow repair workers, she would still have to pay a fee to the union. Apparently, Kreigmeister operates under a(n):

A) illegal arrangement, since nonmembers can never legally be required to pay fees to unions.

B) Closed shop agreement.

C) Union shop agreement.

D) Agency shop agreement.

Answer:

A19. Comparable worth primarily is concerned with:

A) ensuring equal pay for men and women who work for the same firm and have the same job title.

B) Reducing the gap between pay for executives and the pay for non-managerial employees.

C) Ensuring equal pay for jobs requiring similar levels of skill, education and training.

D) Determining whether men or women are better suited to perform various jobs.

Answer:

A20. A comparison of the marketing concept and customer relationship management indicates that customer relationship management:

A) and the marketing concept are identical.

B) Attempts to improve profits by keeping quality high, while the marketing concept attempts to improve profits by a careful design of the promotional mix.

C) Turns the marketing concept upside down. The marketing concept emphasized that marketing was the most important function performed by a firm, but customer relationship management views marketing to be the least important function.

D) Extends the marketing concept by calling for the firm to learn more about its customers so that it not only satisfies them, but exceeds their expectations over time.

Answer:

A21. Kelly buys only Calvin jeans and Nike sport shoes because these products are endorsed by her favorite entertainers. Furthermore, her attitudes and values are shaped by statements of these celebrities. This illustrates how consumer decision making is influenced by:

A) marketing mix variables

B) cognitive dissonance

C) a reference group

D) primary group identification.

Answer:

A22. Sales of cellular phones are still increasing, but the rate of growth has slowed. Sales are expected to peak later this year. Based on this information, cellular phones are in what stage of the product life cycle?

A) introduction

B) growth

C) maturity

D) decline

Answer:

A23. What does a break-even point of 100 units mean?

A) The firm must sell 100 units to maximize its profits.

B) Fixed costs plus variable costs equals 100 units.

C) By producing 100 units, the firm can ensure that variable costs completely cancel its fixed costs.

D) If the firm sells 100 units, its total revenues will equal its total costs.

Answer:

A24. Patrick Bolger is convinced that his product idea has tremendous potential. He has decided to produce the product himself, but plans to use other firms who specialize in storing and transporting the product to help him move the product along its path to the final consumer. These specialists Patrick uses will be part of his:

A) Wheel of retailing

B) Market network

C) Channel of distribution

D) Franchise system.

Answer:

A25. Comstock Coal Distributors does not mine coal itself. In fact, the firm does not even store or handle coal. Instead, Comstock solicits orders for low sulfur coal from other firms, then purchases the required amount from suppliers and directs them to ship the coal to its customers. Comstock is a:

A) drop shipper.

B) Resource delivery facilitator

C) Cash-and-carry wholesaler

D) Limited distribution broker.

Answer:

A26. Bonnie faces the challenge of developing the promotion mix for a new business. Given the uniqueness of the new products and a very limited budget, Bonnie confronts a creditability problem. She realizes that the promotional messages of an unknown firm may be met with skepticism. Bonnie should consider:

A) publicity to help create a positive image for her firm and its products

B) the extensive use of persuasive advertising

C) emphasizing personal selling rather than public relations

D) changing jobs because this situation is hopeless.

Answer:

A27. Mo’s Movies markets DVD movies via the Internet. The company recently adopted a new program that offers their current customers free DVDs if they encourage their friends to visit Moe’s Movies website. This promotional program represents:

A) second stage advertising.

B) Viral marketing.

C) Interlinked promotion.

D) Virtual inducement

Answer:

A28. If a firm can reduce its cost of goods sold and continue to sell its product for the same price, we would expect the firm to enjoy an increase in its:

A) revenue

B) liabilities

C) employee turnover

D) gross margin

Answer:

A29. Your firm is a supplier to a major chain of discount stores. You have heard rumors that this chain of discount stores is in some financial difficulty. Which financial ratios would indicate the discount stores’ ability to pay their short-term debts?

A) Liquidity ratios

B) Leverage ratios

C) Activity ratios

D) Profitability ratios 

Answer:

A30. Akiko realizes the importance of developing a _____ for her interior design business. Akiko knows of no better way of establishing revenue expectations and allocating resources in order to achieve the goals of her firm.

A) market predicution

B) financial forecast

C) budget

D) cash flow analysis

Answer:
A31. Vitale Jewelers obtains needed short-term funds by selling its accounts receivable to the Friendly Finance Company. Friendly Finance usually pays Vitale about 80% of the value of the receivables. Vitale Jewelers utilizes _____ as a means of raising short-term funds.

A) trade credit

B) revolving credit agreements

C) factoring

D) receivable draft agreements

Answer:
A32. Which of the following situations represents a successful use of financial leverage?

A) A firm issues new shares of stock and uses the proceeds from the sale to retire its outstanding debt.

B) A firm borrows money at 8% and earns an 11% return on its investment of these funds.

C) A firm attracts the interest of two venture capitalists, and plays one aganst the other to gain the best deal.

D) A retail firm purchases merchandise at $10 and sells it for $15.

Answer:
A33. Maplewood Toy Company hopes to raise long-term capital by promising in writing to repay the principal provided by potential creditors in ten years. Additionally, the certificate issued by Maplewood promises to pay 10% interest annually for the ten year life of the security. Maplewood intends to sell:

A) stocks

B) bonds

C) mutual funds

D) commodities

Answer:
A34. Georgia Corporation, known for its very generous dividend policy, easily attracts investors. These dividend payments basically represent:

A) a part of the firm’s profit distributed to stockholders.

B) The increase in market share the company has earned

C) Current value of the firm’s stock holdings

D) Income that is sheltered from taxes

Answer:
A35. Louis (an American) owns an export business. After traveling to France on numerous occasions, he developed a taste for fine French wines. Louis has just heard a report on the radio that indicates that the dollar has risen dramatically relative to the euro. Based on this information, Louis expects that:

A) American goods will become less expensive in France.

B) French wines will become less expensive in the United States.

C) French wines will become more expensive in the United States.

D) The French government will place an embargo on American exports.

Answer:
A36. H & Q Importers arranged to have a French winery ship a large quantity of fine wine to the United States. The company authorized its bank to make full payment to the French winery if and when the wine arrives at the H & Q warehouse in Boston. This arrangement represents a:

A) letter of credit

B) certificate of deposit

C) trade agreement

D) banker’s acceptance.

Answer:
Good Luck!
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